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y v MR SR KER CERE | oy e | mw me | g | LR EWEMED R
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JILaH T 1 1
)& L=4m i 1 1 2
SR H 1 1 2
BARIEE N 20 22 94 200 80 204 130 10 10 10 780
HrobAEE L=4m N 20 16 28 150 214
HIHOHAMEE L=6m N 12 19 19 50
insiEs 3.2X 13X 50/120X 2 A 60 30 60 150
IKDH L=5m i 1 1 2
+m5 N 3,000 800 1,000 2,000, 1,000 1,000 800/ 1,800 800 600 600 13,400
+09 WA (MR KHH) 201 | 4% 93 93
KI5 N 0 50 50 50 20 20 20 50 60 320
KA+DH MM (2 1% 50 175 250 30 505
SR J 1 1 2
[h$s —h 5.4X7.2m % 4 4
Bhés —h 5.4X3.6m & 7 20 10 5 5 10 57
[ —h 5.0X5.0m e 5 5
[hs5s —h 1.8X0.9m e 4 4
LS 18 90 80 100 80 80 80 510
WrEARJIAH)  W=lm L=3.3m % 23 23 46
HE L=4m VN 46 80 36 14 20 40 236
B L=5m A 26 26
HE L=6m N 4 4 5 13
B L=2m A 28 4 2 4 4 4 46
YT —R A N 28 4 32
it S 8 100 35 60 22 50 10 10 10 305
o L=1.2m ¢ 50~70mm N 20 9 10 100 16 8 8 8 179
o L=1.5m ¢ 40mm A 4 4
o L=1.5m ¢ 60mm N 20 8 2 2 2 2 36
#L L=1.8m ¢ 50mm S 30 30

e 70 25 16 100 135 76 22 50 20 20 20 554
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oo | RAGHESE | FRAEIR | IR i = = e LR | IR | R i
% oM 4 mo gz TR HAKH RO BORH iy i it Abs | b FORN AR R

(4 N 2 4 4 20 4 34
o 50kg/% % 1 20 3 5 7 10 2 1 1 50
EENisH 50kg/%& 8# & 2 2 4 1 9
. . 3 2 4 20 3 5 7 10 2 1 2 59

ERBRKeR S 150 100 200 1,000 150 250 350 500 100 50 100 2,950

it Y H ] 2 2
fiiles FHE22mm L=1.2m N 38 30 30 30 30 30 188
FhtE 6 16mm L=1.5m N 407 119 136 95 95 95 947
St ¢ 16mm L=1.2m S 30 55 50 135
rNa—7%u2E) | ¢ 20mm [=1.5m R 29 0
s O k4 B {lE] 55 15 24 14 14 10 132
e % 1 11 4 12 10 5 2 2 46
o— m 50 400 200 650
o— F A1 20mm L=200m % 1 1 1 1 4
o— F a2 22mm L=25m N 1 2 3
o— FAer22mm L=15m i 10 3 3 2 18
o— F a2 10mm L=20m N 3 1 2 1 7
a— FR10mm L=15m i 1 1
o— #k15mm L=10~80m A 3 3
ra—7 K 1 10 1 10 22
MR 1 23 5 25 70 400 1 200 15 6 7 2 754
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o | RAGHEEE | FRAELE | EEE - . - s LR | IR | R i
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PPo—~ B 5 5 2 2 2 2 18
W Hn— $10X2.0(¢ 10X 1.0) 7 100 100
e $ 200 L=4.2m PN 3 3
e ¢ 150 L=4.0m N 2 3 5
e ¢ 125 L=4m N 1 2 3
e ¢ 75 L=4m S 2 2 4
BgT ¢ 100 L=5.0m A 1 1
Tk FRART 2 X 3 IS 1 1
>—hk E=m2.7X3.6X0.4 B 1 1 1 3
—k P=m3.6X5.4X0.4 b 1 1 1 1 4
—h 7L ——h9.6X9.6 e 1 1
—h 7 ——}5.4X3.6 e 3 3
—h 7L —3—}5.0X5.0 e 7 7
—h 7L —3—120.0X20.0 e 5 5
—h TN ——RNEF3.6X3.6 e 60 60
—MEF 0 76 1 2 0 0 0 0 0 1 1 2 83

RS —h & 3 3
AANWHE~E 50X50 e 200 0
AANRFE~ S | T EEE20m £ 22 0
FANTE A OK-300(20m/ %) m 600 0
PN L=5m~6m A 100 100
T $70 L=2.5m i 10 14 24
ETAONS D N $90 L=1.7m N 48 48
BEOHA = 15 15
B L=6m(1.=3.0m) N 30 30
EfNUAY— $30 L=12m FIN 4 2 2 8
ERUAY— ¢ 18 N 8 8
EfNUAY— ¢ 16 L=4m i 2 2
ERUAY— 9 N 2 7 2 11
KB LD FE B AN e 1 1
T OIHIVERR e — e — R — 4 % 1 0
— Ty H = 18 10 13 10 9 9 11 80
Fr— = 3 7 7
ORI DR =) 2 0
eV T 23 29 30 34 30 5 34 4 50 30 30 30 306
227 (1N A—b gL T 5 5 5 5 5 5 30
xR T 3 5 1 3 10 1 5 1 5 2 4 37
LN T 6 4 3 2 9 2 2 1 5 3 2 2 35
P T 12 12
e EXI) | FEA) T 4 7 1 5 6 1 1 1 10 5 5 5 47
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4% T 1 1 2 1 4
IN T — BTN~ b T 5 4 4 4 5 22
N—(R) T 12 10 8 1 5 1 7 8 8 60
~_UF T 11 7 7 31 4 4 4 20 6 6 5 105
HoH— T 2 3 3 19 2 2 2 33
) T 25 12 13 35 4 5 3 30 10 10 10 157
v T 1 0
DZEY T 2 4 4 7 1 1 1 10 3 3 3 43
F& T 1 1 2 2 5 1 1 1 2 2 2 19
AT R T 19mm N 3 3
N T AL F 17mm-19mm VN 3 3
Izl T 3 9 9
IR— )L 1 1 5 6 4 6 10 6 6 5 48
TS & 16 10 10 30 10 3 3 4 86
B 4 — {lE] 5 2 4 10 2 2 3 28
AHEE T 10 6 6 5 5 6 38
A T 23 9 8 30 4 4 4 20 5 5 7 119
T —K Ve 79 79
TIH—REH {lE] 80 80
K74 J[ES 0
E i ] IR ST A £ 3 1 1
bt = 1 1
HIV BT i 1 1
P —F74h et P 0
R A< & 13 2 8 8 5 7 7 37
At 50X 250 [=2.1m Ii'e 16 16
A 60X 150 L=3m A 14 14
brz) 100X150 L=1.6m i 10 10
Rrrz=vk 4t R~ 50 50
A=y hk 2t 18 1 1
o Ry 2t 2400 X 2400 1% 55 55
THALERA 15kg in 2 0
EHF DI 156 156




